MODEL YB24 PARTS LIST
YORK RAKES A division of YORK MODERN CORPORATION

P.O. Box 488, Unadilla, N.Y. 13849 Phone: 607-369-7111 FAX: 607-369-2625
Phone: 1-800-643-YORK E-mail: sales@yorkmodern.com Web: www.yorkmodern.com

Model YB24 Parts List

Form YB24P1

Ref. No. Part No. Description Required
39 PP5211 Sprocket (11 Tooth; 3" OD x 1" ID)
40 PP5205 Drive Chain with Full Link (#60)
41 PP5202 Full Link (#60)
42 PP5219 Sprocket (48 Tooth; 12" OD x 1-1/4" ID)
43 PP2248 Pillow Block Bearing (1-1/4") (2)
44 PG3564 Capscrew (1/2" x 4-1/2” NC); S/L Nut; F/W (4)
45 09826600 Drive Chain Cover
46 PP3180 Serrated Bolt (3/8” x 3/4") (2)
47 09826200 Broom Frame; 6’
N/S 098825200 Broom Frame; 5’
N/S 09824200 Broom Frame; 4’
48 09826700 Broom Cover; 6
N/S 09825700 Broom Cover; 5’
N/S 08824700 Broom Cover; 4’
49 PG3536 Capscrew (3/8” x 1-1/4" NC); S/L Nut F/W (3)
50 PF3180 Capscrew (3/8” x 3/4" NC Serrated); S/L Nut
51 09826300 Broom Drum; &’
N/S 09825300 Broom Drum; &’
N/S 09824300 Broom Drum; 4’
52 PP5248 Convoluted 24" Brushes (Poly: 6’ - 36;5 - 30;4' - 24)
N/S PP5249 Convoluted 24" Brushes (Wire: 6’ - 36;5" - 30;4' - 24)
53 09886310 Broom Drum End Plate
54 PP3183 Serrated Bolt (1/2" x 17) (4)
51-54 09826400 Broom Drum Assembly Complete; 6’
N/S 09825400 Broom Drum Assembly Complete; 5’
N/S 09824400 Broom Drum Assembly Complete; 4
20,30-54,57-58 09826900 YB24 6’ Broom
N/S 09825900 YB24 5’ Broom
N/S 09824900 YB25 4’ Broom
55 09813210 Top Metal Deflector Only; 6’ (Optional)
N/S 09812210 Top Metal Deflector Only; 5’ (Optional)
N/S 09811210 Top Metal Deflector Only; 4' (Optionatl)
N/S Other Dirt Deflector Styles Available. For Information
Consult the York Broom Deflector Sheet
56 PG3180 Capscrew (3/8" x 3/4” NC Serrated); S/L Nut; F/W (3)
57 09856650 Broom Chain Tightener
58 PA3547 Capscrew (3/8” x 3" NC Spc.); Nut (2)
59 PP5362 Roll Pin {(5/16” x 27)

All specifications subject to change without notice. 10/30/03



